#include <iostream>
#include <fstream>
using namespace std;
int main()

] {
long n,c,ogl;

int s5,p,nr,cmax, cmin:

f=>n;
s=0;c=n:;
while(c!=0)
i {

s=s5+ (c%10) ;

ifstream f("pumere.in™):
ofstream g("pnumere.out™):;

p=1l:c=n;
while (c!=0)

{
p=p* (c%10);
c=c/10;

}

g<<p<<endl;

nr=0;c=n;
while(c!=0)
{
nr++;
c=c,/10;
h
g<<nr<<endl;

c=n;ogl=0;
while(c!=0)
{
ogl=ogl*l10+ (c%10) ;
c=c/10;
h
g<<ogl<<endl;
c=n;cmax=0;
while (c!=0)
{
if(c%l0>cmax)
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- } while (c!=0) while (c!=0) c=c/10;
g<<s<<endl; { { }
s=0;c=n; . —— ] )
while (c!=0) if (c%2==0) , if (e22==0) g{{cma¥<<?ndl,
i { p=p* (c%10); nri+; c=n;cmin=10;
if (c$2==0) c=c/10; c=c/10; while (c!=0)
s5=s5+(c%10); } } {
_ : c=c/10; g{?p{{endl; g<<nr<<endl; if(c%l?{cmi?;
=1l;c=n; =0 o=p: cmin=c ;
q{{s{{endl; Eh.‘Ji-_lE [CI:DJ nr. Ijrc T c:cjlﬂ . -
s=0;:c=n; : while (c!=0) -
while (c!=0) { { }
i { if (c%2==1) if (c3z2==1) || g<<cmin<<endl;
if(c%2==1) p=p* (c%10) ; nr++: f.close():
s=s+(c%10) ; c=c/10; c=c/10; g.close () ;
) c=c/10; ¥ } return 0;
g<<s<<endl; g<<p<<endl; g<<nr<<endl;
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